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The Solid Construction Company constructs decks for residential homes. They send out two person teams

to build decks. The company conducts a sample of 40 jobs and calculates a mean completion rate of 8
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"D
Printers Manufacturer

Printers Manufacturer is a manufacturer of ink jet printers. They would like to include as part of their
advertising the number of pages a user can expect from an ink cariridge. A sample of 10 cartridges was

taken with a mean of 2409 pages and a standard deviation of 304 pages.

N=lo R [
8. Listvariables: j4r7 - (5 —) = 9 = *‘j;i they f0

X =24oa pageS

5 — d}ﬂLf‘ f‘pﬁ_ﬁ}e 5 +
9. What is the best estimation for the population mean? ~Zilgg 9 Fedbz

X = Z4oa Peges 1S “ﬁ& bect estimate G ow fop. Meev),
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10. Determine a 95% Confidence Interval
a. State the level of confidence, state the df, then look up t in back of book.

tee  of confrdautce = 49 Af = fo-t =9 = +t=-22¢9
Tycel = T Eav (J-,‘TSJ 1) o5 K a
240q — 2!?—, H’5 [Errpr
b. Using the correct confidence interval formula, calculate the confidence iimitsf \5& &
= ) = Zi1z2 & 2626
S Zyoq = 22e2% i3 T F
"The limits for tre 157 €L a¥C
11. Conclusions: 2|42 pages and 2626 fagdes,

- The LusTomey can expecT an avevege of
Z4 09 F“ﬁﬁﬁ/farf‘r{d}a_

— The fypica| Wsage ramges from Z11% Pages
Pages (gven a 95% CT ) , The mavgin of

Evvror 5

i 2626

L

= "ﬂﬂa Mavjfﬂ & ervor is ZIUF qsf‘ﬁ?z?,

T e are 95% Suve TR TR populatieed Mean lies betrveern
Z192 & 2026 pages.

I we tonStvucted 180 Simlar !n"‘"&f‘ual“f 95 of fnem bunu{'ﬂ( a:}ﬁ;lgﬂ_ﬂ




; {
Same example as befove , except

g = e U et Enown., @
The Solid Construction Company
The Solid Construction Company constructs decks for residential homes. They send out two person teams

. to build decks. The company conducts a sample of 40 jobs and calculates a mean completion rate of 8

_—

~

4. Conclusions:

hours to build a typical deck. The standard deviation in the sample was 3 hours.

n=4Yo o -
I. Listvariables: Yy - 4 Vours f & Samples 1

s = 3hours Egree o= freedom = dF = Ho-| =%
Ctandord E¥ror = S -

2_-
e A
2. What is the best estimation for the population mean?

our est EStimate For +he Unknvown Population Mean is eur

félmpl'e I"HEAI"!J )( = & hours. TBWouvrs is ovy .Pnjﬂ+ Eﬁﬁm:n._'f"f_ fov M‘
3. Determine a 90% Confidence Interval

" — L e

then find z
confidence Twtevval| =909,

Y]

Wiy ol

o168 © 1685

b. Using the correct confidence interval formula, calculate the confidence limits N %
T+ t%2 ThTevvals ¢ 2,26 o ¥.80
N Vi 5 h US?M
8 I legyeysie R E LTINS T4, 2 sing, o ¥ h \

i ; W—-—J
3 }aq 20644y Netice e interval
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Min ute I “4E Minvtes. €
$ and € hours “E Mminvtes Lj;:"_f’“*ﬂi fo Normal Curve

h 2
Would it be reasonable to conclude that the poulatiom mean is 9 hours? Z,
1&‘[2{&’-,}% ':1 L’\uurg IS Mot ln‘jffle auY" ]

m+avualj'1+ would Not Be reasonable 4o conclude Fuat The.
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What if SCC claimed the population mean is 6 ¥z hours? )
E'E’-'Cauﬁ.e. 6 Va Mours 1S Mot ingjc;[Q i l's iﬂ‘f‘ﬂr’fﬂ.l_‘ '3 wyould
net 2. reasonable to Cendude +hat- Fhe Pop.Megy

\ S (2 f/z Mours .

What if SCC claimed 7 %2 hours was their average job time? Is this reasonable?

T+ 15 Veasonable fo Concude That The pop, mean /s

F]— V2. hours Wecavse 1T was Vetween our Confidemce
Limitz »F T.2 Wours zt 4.8 hours ,
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Furniture Land South

Furniture Land South surveyed their customers (n = 600) to see if they liked the new line of durable foam
furniture decorated in bright colors. 414 said they were excited about the new line. All the binomial tests —~

are met. n= 600 \ Fixed # vials = ¥es h= LoD
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3. Determine a 99% Confidence Interval
a. State the level of confidence

eI O By o i TG probabilityan e ody o Appendix D
—thenﬁndz me ol "M‘q‘m:ﬂ - ‘q c.' crgr/z_

'y
/ﬁm\ 2oy

=TSP % ISP S En
b. Using the curm-:l confidence interval formula, calculate the confidence limits
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4. Conclusions:
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